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Question Number : 1 Question Id : 50521223717 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the context of children, 'development’ includes-
Options:

1. only qualitative changes.

2. only quantitative changes.

3. both qualitative and quantitative changes.

4. neither qualitative not quantitative changes.

Question Number : 1 Question Id : 50521223717 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 50521223718 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of use of fine motor skills?
Options :

1. Writing

2. Jumping

3. Running

4. Swimming

Question Number : 2 Question Id : 50521223718 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 50521223719 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The ‘sensitive period’ in child development represents-

Options:

1. the optimal period for particular capacities to emerge in an individual.

2. the development period from conception to birth.

3. the development period of transition from childhood to early adulthood.

4. the development period of sudden hormonal changes in an individual.

Question Number : 3 Question Id : 50521223719 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 50521223720 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Peer group-

Options :

1. has a significant role in secondary socialisation of childhood.
2. does not have any role in the socialisation of children.

3. has a small but insignificant role in the socialisation of children.



4. is not an agency of secondary socialisation.

Question Number : 4 Question Id : 50521223720 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 50521223721 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a sub-stage in Kohlberg's ‘conventional stage’ of Moral Development?
Options :

1. Instrumental purpose and exchange

2. Universal ethical principles

3. Morality of contract, rights and law

4. Social concern and conscience

Question Number : 5 Question Id : 50521223721 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 50521223722 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Accommodation occurs when-

Options:

1. children transforms their experience to fit into existing schemes.

2. the children modify their schemas to make sense of new experiences.
3. the children break down their schemas into disconnected chunks.

4. the children focuses on abstract things rather than concrete experiences.

Question Number : 6 Question Id : 50521223722 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 50521223723 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A 5year old child is shown 16 flowers, 4 of which are red and 12 are blue. When a 5 year old child
is asked if there are more blue flowers or flowers, the child is likely to respond that there are more

blue flowers. According to Jean Piaget's theory, the reason for this is that the child is yet to master-
Options :

1. seriation.

2. hierarchical classification.

3. transitive inference.

4, propositional thought.

Question Number : 7 Question Id : 50521223723 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 50521223724 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher facilitates the students in the teaching-learning process through peer interaction and

scaffolding. This teaching-learning process is based on -
Options :

1. Lawrence Kohlberg's development theory.

2. Jean Piaget’s cognitive development theory.

3. Lev Vygotsky's socio-cultural theory.

4. Howard Gardener’s multiple intelligence theory.

Question Number : 8 Question Id : 50521223724 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 50521223725 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Curricular goals in progressive education emphasise -
Options :

1. rote-memorisation.

2. conformity to authority.

3. critical thinking.

4. recall and drill.

Question Number : 9 Question Id : 50521223725 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 50521223726 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Howard Gardener’s theory of multiple intelligence, which of the following refers to

the ability to discriminate complex inner feelings and to use them to guide one’s own behaviour?



Options :

1. Interpersonal intelligence.
2. Intrapersonal intelligence.
3. Linguistic intelligence.

4. Naturalist intelligence.

Question Number : 10 Question Id : 50521223726 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 50521223727 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion: It is very important to create a print rich environment in classroom.
Reason (R): Conducive environment plays a meaningful role in language development.

Choose the correct option.

Options :



1. Both (A) and (R) are true and (R) is the correct explanation of (A).
2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 11 Question Id : 50521223727 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 50521223728 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The term refers to biological difference whereas refers to traits and behaviours that a

particular culture deems appropriate for men and women.
Options :

1. sex, gender

2. gender, sexuality

3. gender, sex



4, sexuality, gender

Question Number : 12 Question Id : 50521223728 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 50521223729 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following will be most appropriate statement for a multicultural classroom?
Options :

1. School should admit only those students who can communicate in the medium of instruction
used in the school.

2. Teacher should respect all languages and encourage students to communicate in the language

which they are comfortable to speak.

3. Teacher should penalize those students who communicate in the language other than the

specified medium of instruction.

4. Assessment should only be done in the medium of instruction specified by school.



Question Number : 13 Question Id : 50521223729 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 50521223730 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Standardized tests of assessment-

Options :

1. prompts divergent thinking in students.

2. are based on rigid structures of evaluation.

3. employ multiple methods on needs and diversity of learners.

4. acknowledge that each individuals learns at a different pace.

Question Number : 14 Question Id : 50521223730 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 50521223731 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following method is suitable for the purpose of ‘assessment for learning'?
Options :

1. Exams only once a year

2. Regular documentation of children’s conceptual progress

3. Standardised tests

4. Quiz based only on recall

Question Number : 15 Question Id : 50521223731 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 50521223732 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher often encourages her students to describe the process which they used in solving a

mathematical problem. In context of process of learning, this strategy -
Options :

1. is meaningless.

2. should be used rarely.

3. can disrupt pace of learning.

4. helps in development skills.

Question Number : 16 Question Id : 50521223732 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 50521223733 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Inclusive Education maintains appropriate standards of learning for students with:
(i) giftedness

(ii) autism

(iii) learning disorder

(iv) intellectual challenged
Options :

1. (i) (i) (iv)

2. (i) (i) (iif)

3. (ii) (iii) (iv)

4. (i) (i) (iii) (iv)

Question Number : 17 Question Id : 50521223733 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4 (D), (i), (iii), (iv)

Question Number : 18 Question Id : 50521223734 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A condition in which a child frequently omits substitutes or reverses the letters and word while

reading is called:
Options :

1. Dyslexia

2. Autism

3. Learned helplessness

4. Attention Deficit Hyperactivity Disorder

Question Number : 18 Question Id : 50521223734 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 50521223735 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bindu is very enthusiastic to do projects on her own. She comes up with original and divergent

solutions. These are characteristics of -
Options :

1. egocentrism

2. creativity

3. extrinsic motivation

4. cognitive delay

Question Number : 19 Question Id : 50521223735 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 50521223736 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following set of learning materials is suitable for students who are partially sighted?
(i) Large - print books

(i) Three - dimensional ways and charts

(iii) Small - print worksheets

(iv) Software that convert text to speech
Options :

1. (i), (iii), (iv)

2. (i), (i), (iv)

3. (i), (i), (iv)

4. (i), (i), (iii)

Question Number : 20 Question Id : 50521223736 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4 (1), (i1), (ii1)

Question Number : 21 Question Id : 50521223737 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an effective strategy to support children’s learning in the classroom?
Options :

1. Helping students develop concept maps

2. Teaching students the use of mnemonics and chunking

3. Asking students to passively copy the solution of question

4. Encouraging children to sit and learn with peers.

Question Number : 21 Question Id : 50521223737 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 50521223738 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following questions is related to procedural knowledge?
Options:

1. What is the capital of America?

2. What is the difference between map and globe?

3. What is the method of adding 3-digit numbers?

4. What is the definition of photo-synthesis?

Question Number : 22 Question Id : 50521223738 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 50521223739 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy 2020 proposes that education should be -
Options:

1. focused on drill and practice.

2. inquiry driven; discovery oriented.

3. textbook and teacher centric.



4. oriented towards learning for exams.

Question Number : 23 Question Id : 50521223739 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 50521223740 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements best defines meaningful learning?
Options :

1. Learning is limited to remembering facts given in textbooks.

2. Learning is an active process that takes into account the information children learn outside of

school.
3. Learning is measurable by use of standardized paper pencil tests only.

4. In the process of learning, a student should receive information from the teacher only.

Question Number : 24 Question Id : 50521223740 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 50521223741 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In context of problem solving, getting stuck on one way of representing a problem is called -
Options :

1. functional fixedness.

2. response set.

3. analogical thinking.

4. means - end analysis.

Question Number : 25 Question Id : 50521223741 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 50521223742 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a classroom students are working in small groups on a task and teacher facilitates each group.

Which approach is being followed in the classroom?
Options :

1. Behaviouristic

2. Constructivistic

3. Psychoanalytic

4. Expository

Question Number : 26 Question Id : 50521223742 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 50521223743 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The problem solving strategy in which one begins from the goal and moves back sequentially to

figure out solution is called -
Options :

1. analogy.

2. working backward strategy.
3. algorithm.

4. mnemonics.

Question Number : 27 Question Id : 50521223743 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 50521223744 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When children make errors -

Options :

1. they should not be valued in the classroom.

2. they should be asked to keep repeating the task till the time they omit the error.
3. they should be shifted to a separate section of the classroom.

4. the teacher should have discussions with the child to gain an understanding about child’s

thinking.

Question Number : 28 Question Id : 50521223744 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 50521223745 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How can a teacher encourage her students to remain intrinsically motivated for learning?
Options :

1. By inducing anxiety and fear.



2. By giving competitive tests.

3. By supporting them in setting individual mastery goals for themselves.

4. By offering tangible rewards such as toffees.

Question Number : 29 Question Id

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: 50521223745 Question Type : MCQ Option Shuffling : Yes
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Question Number : 30 Question Id

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: 50521223746 Question Type : MCQ Option Shuffling : Yes

A student’s ability to plan, monitor, evaluate and modify her own learning is known as -

Options :

1. attention.

2. recall.

3. memorisation.

4. metacognition.

Question Number : 30 Question Id

: 50521223746 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 50521223747 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Numbers 1-200 are written on the floor. Three friends Chang, Sneha and Salim started to jump on the numbers. Chang

7th 5t number. Salim is on 106 and he

is on 83 and he jumps on every 7™ number. Sneha is on 94 and she jumps on every

4" number, The common number on which all of them jump will be

jumps on every
Options :

1. 112
5> 114
3 124

4 142

Question Number : 31 Question Id : 50521223747 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1 112

5 114

3 124

4 142

Question Number : 32 Question Id : 50521223748 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

In a school auditorium 2/7 of the students are girls. I there are 111 more boys than girls, how many boys are there in
the school auditorium?

Options:
1. 400

5 315
3. 259

4 185

Question Number : 32 Question Id : 50521223748 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. 400

Question Number : 33 Question Id : 50521223749 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



How many ones are there in the number 977
Options :
1.9

Question Number : 33 Question Id : 50521223749 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
97 & fepeT gehTEaT 22

Options:
1.9

Question Number : 34 Question Id : 50521223750 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a division question, the divisor is 6 times the quotient and twice the remainder. If the remainder is 6, what is the
number?

Options :
1. 30



3. 24

Question Number : 34 Question Id : 50521223750 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. 30

2. 36

Question Number : 35 Question Id : 50521223751 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Find the difference between the smallest four digit number and the largest two digit number
Options:
1. 91

5> 900



3 991

4. 901

Question Number : 35 Question Id : 50521223751 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 91

5, 900
3. 991

4. 901

Question Number : 36 Question Id : 50521223752 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The price list shown in a vegetable shop is given below.

[tem price/kg

1. Amla 3120
2. Brinjal 360
3. ladyfinger 345
4, Potato 138
5. Tomato 42
6. Onion )

Ramu bought 250g amla, % kg brinjal, kg lady finger, 21 kg potato, 13 kg tomato and 13 kg onion. He gave 3400 to the
shopkeeper. How much did he get back?

Options :
1. X179



5 %89
3. %189

4 %79

Question Number : 36 Question Id : 50521223752 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. 179
2 I89

3. ¥189

4 T79



Question Number : 37 Question Id : 50521223753 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words will read exactly the same on half a turn?
Options:
1. ZOOM
2. SWIMS

3. HOW

4. SIX

Question Number : 37 Question Id : 50521223753 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. ZOOM
> SWIMS

3. HOW

4. SIX

Question Number : 38 Question Id : 50521223754 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Teacher tells students that the height of the world’s tallest building is 828m. Jagath responds ‘If we make a stack of our
classroom horizontally, 120 classrooms can cover that building” What is the height of Jagath’s classroom?

Options :
1. 7.4 meter

2. 6.9 meter
3. 5.8 meter

4. 9.6 meter

Question Number : 38 Question Id : 50521223754 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1. 7.4 T

2. 6.9 HZT

3. 5.8 "X

4. 9.6 HZT

Question Number : 39 Question Id : 50521223755 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Rita has the longest jump of 3m 40cm. Tanu is second. Her jump is 20cm less than Rita's. Rihanna comes third. Her
jump is only 5¢cm less than Tanu's jump. By how many centimetres Rihana could not secure the first rank?

Options :
1. 20cm

2. 15cm
3. 25cm

4. 5cm

Question Number : 39 Question Id : 50521223755 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 20 T

5 15 FEHET

3, 25 T

-

4, 9

Question Number : 40 Question Id : 50521223756 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How many squares of side 2cm are needed to make a rectangle of length 8cm and breadth 6cm?



Options :
1. 6

3. 10

Question Number : 40 Question Id : 50521223756 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
1. 6

3. 10

4. 12

Question Number : 41 Question Id : 50521223757 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Three-fourth of a meter is same as
Options:

1. 34cm



2. /5cm
3. 3m4cm

4. 3m 40cm

Question Number : 41 Question Id : 50521223757 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 50521223758 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rinku uses cycle to reach school every day. If he reaches school from home in 13 minutes by travelling at a uniform
speed of 6km/h, what will be the distance between his school and home?

Options :
1. 1400m

5> 1350m



3. 1450m

4. 1300m

Question Number : 42 Question Id : 50521223758 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 1400 =72

5> 1350 712

3 1450

4. 1300 Hiex

Question Number : 43 Question Id : 50521223759 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What is the value of 2-2+2-2+2-2......1

Options :
1. Owhenn is even

2. 2whenn is even

3. -2when 1 is odd



4. Owhenn is odd

Question Number : 43 Question Id : 50521223759 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
22422422 e N T A T Y
Options :

1 0. 78 n UF 99 U= 2

D 3 n UF TN SEIT R
2. FE n UF Tanw g B

0. 59 n 7% faug o B

Question Number : 44 Question Id : 50521223760 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Aneesh makes a bucket full of lemon drinks to sell at the fair. He has a bucket, small glass and large glass respectively,
which can contain 20 litres, 250ml, and 400ml of lemon drink. If Aneesh has sold 45 small glasses and 21 large glasses
of lemon drinks, then how much lemon drink has been left in the bucket?

Options :
1. 250ml
2. 2 litres

3. 350ml

4. 3000ml



Question Number : 44 Question Id : 50521223760 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 250 To=t,

2, 2 I
3. 350 fo=i.

4. 3000 Tor=T.

Question Number : 45 Question Id : 50521223761 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

After ten years Manisha's age will be five times of her age six years ago. What is the present age of Manisha?
Options:

1. 15 years

2. 8 years

3. 8.5 years

4. 10 years



Question Number : 45 Question Id : 50521223761 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 1599

Question Number : 46 Question Id : 50521223762 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to the domains of knowledge given by Jean Piaget, which of the following statement is true?
Options :

1. Numbers come under physical knowledge as children learn numbers by associating them with counting of objects.
2. Numbers come under sacial conventional knowledge as children learn through real world experiences.

3 Numbers come under logico-mathematical knowledge as numbers are the relationships a child creates mentally.

4. Numbers come under socio-cultural knowledge as each culture represents numbers differently.

Question Number : 46 Question Id : 50521223762 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 50521223763 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher gives cut outs of squares of different side lengths to her students. She asks them to trace the square on a
graph paper and count the number of square-boxes traced. She then asks her students to arrive at a relationship
between the side length of the square and number of hoxes traced by them. Which of the following method is being
used by the teacher?

Options :
1. Inductive Method
2. Lecture Method

3. Deductive Method

4. Laboratory Method

Question Number : 47 Question Id : 50521223763 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1. SRR Aty

5 ST faf
3 TR fate

4, TR fafer

Question Number : 48 Question Id : 50521223764 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true about the use of technology in teaching and learning of mathematics?
Options :

1 The use of technology decreases the importance of a mathematics teacher.
o Technology is not mathematics, it is simply a way of doing mathematics.

3. Students will not practice enough questions with the use of technology.

4. Technology reduces the scope of exploration and discovery in mathematics.

Question Number : 48 Question Id : 50521223764 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 50521223765 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A primary grade mathematics teacher writes the following two word problems based on addition on the blackhoard:
(i) Thereare 11 balls in one hag and 14 in another. How many halls are there in total?
(i) The price of atoy caris Rs. 245. If the price is increased by Rs.50, then what is the new price of the toy car?
Which of the following statements represent the purpose of asking the above two word problems?

Options:

Students should be able to understand the mathematical structure of addition and identify the use of concept of
1 addition in a variety of situations.

5 Students learn to differentiate between word problems of addition and subtraction.
3. The given two situations of addition are the only structures of addition required to be learnt at primary level.

4. The given word problems just serve the purpose of adding variety to word problems.



Question Number : 49 Question Id : 50521223765 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 50521223766 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘National Curriculum Framework’ 2005 envisions that the school mathematics takes place in a situation where:
Options :

1 Students are able to solve problems using paper-pencil technigues.

o Students are studying mathematics with a focus on formulae and procedure.

3 Students see mathematic as part of their life experiences and pose and solve meaningful problems.

4. Students perform successfully in mathematics examination.



Question Number : 50 Question Id : 50521223766 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 50521223767 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mathematical games and puzzles help in:
(i) making connections between mathematics and everyday thinking.
(i) enabling children develop a positive attitude towards mathematics
(i) reducing the work of a teacher and break the monotony of solving problems on blackboard.
(iv)  maintaining discipline in the class.
Choose the correct option:-

Options:
1. (i)and (iv)

5 (i) and (ii)

3. (ii)and(ii)



4. (i), (i)and(iii)

Question Number : 51 Question Id : 50521223767 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 50521223768 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Patterns ‘is an important mathematical concept at primary level because
Options :

1. Patterns are attractive to look at

o Patterns can be made by using variety of materials



3 Patterns can be made in many ways

4. Patterns develop the basic concepts of algebra among learners

Question Number : 52 Question Id : 50521223768 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 50521223769 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A mathematics teacher posed the following question to his students:

"Make the greatest and the smallest 4-digit numbers using any four different digits but with the condition that digit 6 is
always at one's place”

Which of the following statements is correct in the above context.

Options:

1 It is an example of open ended question.

2 The data given in the question is insufficient to solve it.



3 The question has a unique answer to arrive which requires the use of logical thinking.

4. Such questions should be avoided to be asked in the class as a lot of time is wasted in solving them.

Question Number : 53 Question Id : 50521223769 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 50521223770 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Journal writing by students as a ‘Mathematics Assessment Tool’ focuses on
Options:

1. Encouraging students to reflect on the problems related to mathematics teaching and learning,



2 Addressing general problems faced by students in a classroom.
3 Improving mathematical language of students.

4. Improving problem solving skills of students.

Question Number : 54 Question Id : 50521223770 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 50521223771 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An elementary school mathematics teacher decides to make a ‘unit plan’ on “Geometrical Shapes”. He writes the
following expected learning outcomes.

() Recognize various shapes

(i)  Differentiate between various shapes

(iil)  Identify sides, angles and vertices of shapes
Which of the following levels of Van Hiele's geometric reasoning is he assessing his students on?

Options :



1. Deduction level
2. Axiomatic level
3. Visualisation level

4. Analysis level

Question Number : 55 Question Id : 50521223771 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 50521223772 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following is the last step in development of number sense (up to 10) in children?
Options :

1. Learning the sequence of numbers
2 Learning to read and write numerals
3 Learning to count using number names

4. Learning what comes after/before a given number

Question Number : 56 Question Id : 50521223772 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

)

TTeTiad 5 & -1 ==l § 9T 2 a4 (10 T%) 7 [T i o [o70 #Afae = 27

Options :

1 TN % T S|

, HETHA! i UFT R e # St

3. TEATSAT T SR HTH % |1 T A 3T AT

, T 2T TS WA ¥ et A WG F T AT 2, FH A

Question Number : 57 Question Id : 50521223773 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ateacher has given the following assignment to the children “Your friend was absent from the class and missed the

lesson on Area and Perimeter. Write a letter to him explaining the difference between the two. You can use diagrams
also’.

The purpose of giving such kind of task in mathematics is
(i) toknow student’s understanding of the concept taught
(i) tohelpthe ahsentee student complete his missed work
(i) toteach the student how to write a letter
(v)  toenhance student’s mathematical communication

Options :

. (i) i)
2. (ii), (1)
3 (i)

4. iii),(iv)

Question Number : 57 Question Id : 50521223773 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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5 (@), (iv)

4. (1i0), (iv)

Question Number : 58 Question Id : 50521223774 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When posed with a problem on subtraction, ‘400-45, a student responded. “If it were 40, then the answer would be
60, but its 45 so its 55,155,255,355, therefore, 400-45 is 355."
Which one of the following statements is correct for the strategy used by the student?

Options :
1. Only standard algorithm is desirable for solving such problems, hence it is an incorrect method.
5 Itis an informal algorithm and reflects student’s mathematical thinking process

3. The student will get zero marks for using this strategy to solve a problem based on subtraction

g It is a hit and trial method of solving a problem

Question Number : 58 Question Id : 50521223774 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 50521223775 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Nihal has received 78 percentile marks in a mathematics test. It is an example of which of the following tests?
Options:

1. Criterion-Referenced Test
2. Norm-Reference Test

3. Diagnostic Test

4. Aptitude Test

Question Number : 59 Question Id : 50521223775 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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4. SATIRITET G

Question Number : 60 Question Id : 50521223776 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Following is the sequence of activities for conceptual development of 3-D shapes. They are in random sequence.
()  Comparing two shapesand identifying the similarities and differences
(i)  Constructing 3-D shapes with play-dough
(i)  Making shapes using nets
(iv)  Constructing shapes using geometrical tools such as compass, ruler
Which of the following represents the correct order of sequence?

Options :
1. (i), (i), (i), (iv)

2. (i), (i), (iv), (i)

3. (i), (1), (iv), (iii)

4, (iv),(iie), (i), (i)

Question Number : 60 Question Id : 50521223776 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :



(i), (1), (iiD), (iv)

—_—

(1), (1), (1v), (iii)

N

(i), (1), (iv), (i)

3
4. (1v), (iii), (ii), (1)

Environmental Studies
Section Id : 505212763
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 5052121379
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 50521223777 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Radha's teacher observed that Radha is finding difficulty in reading blackboard. Doctor suggests

that Radha needs to increase the food rich in which of the following nutrients :

Options:



1. Vitamin K
2. Vitamin A
3. Vitamin C

4. Vitamin D

Question Number : 61 Question Id : 50521223777 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 62 Question Id : 50521223778 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Wild life sanctuary that is famous for Conservation and protection of "Hangul Deer".
Options :

1. Sariska

2. Dachigam

3. Jim Corbett

4. Ranikhet



Question Number : 62 Question Id : 50521223778 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 50521223779 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ozone layer protection is an important environmental initiative undertaken all over the world.

Select the reason that led to protection of Ozone layer.
Options :

1. Ramsar Convention

2. Mantreal Protocol

3. Kyoto Protocol

4. Durban Summit

Question Number : 63 Question Id : 50521223779 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 50521223780 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The bird that was common sight in Delhi but now a special day is observed to raise awareness

about the bird as it has became rare due to the urbanization. The bird is ?
Options :

1. Peacock

2. Koel

3. Parrot

4. Sparrow

Question Number : 64 Question Id : 50521223780 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 50521223781 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In which of the following places you can see boats being used as mode of transport :
Options :

1. Ladakh and Kargil

2. Kashmir and Kerela

3. Sikkim and Darjeeling

4. Delhi and Mizoram

Question Number : 65 Question Id : 50521223781 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 50521223782 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOTan insectivorous plant :
Options :

1. Dionea

2. Nepenthes

3. Ageratum

4. Sundew

Question Number : 66 Question Id : 50521223782 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 67 Question Id : 50521223783 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rani finds a piece of cloth that is:



1. Very strong and bright coloured

2. Does not have many pores

3. Produces smell on burning

4. Is available everywhere and has multiple uses
5. Cannot be worn during high temperature

Identify the fabric.
Options :

1. Silk

2. Polyster

3. Cotton

4. Rayon

Question Number : 67 Question Id : 50521223783 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 50521223784 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If two organisms belonging to two different species come together in association and one is

harmed and the other is benefitted, such association is :
Options:

1. Parasitism

2. Symbiosis

3. Mutalism

4. Commensalism

Question Number : 68 Question Id : 50521223784 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:



Question Number : 69 Question Id : 50521223785 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT a green house gas ?
Options :

1. Methane

2. Carbon dioxide

3. Sulphur dioxide

4. Carbon monoxide

Question Number : 69 Question Id : 50521223785 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 50521223786 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which one of the following plants is used for making containers and in making houses :

Options:



1. Sugarcane
2. Bamboo
3. Maize

4. Grass

Question Number : 70 Question Id : 50521223786 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 71 Question Id : 50521223787 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following food habit will help to reduce 'carbon footprint':
Options :

1. Eating meat and fish

2. Consuming preserved food like canned beans

3. Consuming diary products

4. Eating local grown food

Question Number : 71 Question Id : 50521223787 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 50521223788 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Tropic of cancer passes through which of the following Indian states ?

Options :

1. Gujarat, Maharashtra, Madhya Pradesh, Chattisgarh, Jharkhand, West Bengal, Tripura and
Mizoram

2. Gujarat, Rajasthan, Madhya Pradesh, Chattisgarh, Jharkhand, West Bengal, Tripura and

Mizoram
3. Gujarat, Rajasthan, Madhya Pradesh, Chattisgarh, Odisha, Jharkhand, West Bengal and Tripura

4. Gujarat, Rajasthan, Madhya Pradesh, Chattisgarh, Odisha, Jharkhand, Bihar and West Bengal

Question Number : 72 Question Id : 50521223788 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 50521223789 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In an urban setting, a vegetable vendor cannot retain the produce for a long time and decides to

sell it immediately at low prices. This is because :
Options :

1. he is not educated to make informed decision
2. he lacks the sale skills

3. of distress sale as items are perishable

4. he is unaware of market rules

Question Number : 73 Question Id : 50521223789 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 50521223790 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following birds have filtering system in their beaks :
Options :

1. Flamingoes

2. Robins

3. Macaws

4. Sparrows

Question Number : 74 Question Id : 50521223790 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 50521223791 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the pair which are examples of insect larvae :
Options :

1. maggots and beetles

2. catterpillar and flies

3. beetles and flies

4, catterpillar and maggots

Question Number : 75 Question Id : 50521223791 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 50521223792 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The nature of EVS is
Options:

1. Integrated

2. Disciplinary

3. Intrarelated

4. Static

Question Number : 76 Question Id : 50521223792 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 77 Question Id : 50521223793 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

EVS curriculum is based on themes because

Options :

1. Themes allow a connected and inter-related understanding of the environment of students
2. Students can learn EVS easily

3. EVS can be learnt by the students by their involvement in teaching learning process



4. Teachers can facilitate student's learning easily

Question Number : 77 Question Id : 50521223793 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T.31.0H. T TSR offF R SATITRA T, FTE —

Options :

1 ffeT ST = TR % A U T U S e S et e 2

, T EATE. F AEH F g T 7

5 BT 3109, Tl G- 3 A5HaT 5 STHe & 3 §1g 9o 2

TS157%F T & UHEs 1 TETAT © ST 96T 9% 1
4.

Question Number : 78 Question Id : 50521223794 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

EVS for class IIl to V as a subject, integrates science, social science and environmental education as

per the recommendation of
Options:

1. NCF 1988

2. NCF 2005

3. NCF 2007

4. NPE 1986

Question Number : 78 Question Id : 50521223794 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :

| TAHITE. 1988

, TAHELTE. 2005
5 TAHLTE. 2007

4 TAHTE.1986

Question Number : 79 Question Id : 50521223795 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following may be the most challenging for an EVS teacher in her EVS class?
Options :

1. Geographical location of the school

2. Big schools in metro cities

3. Addressing diverse group of students

4. Gender of the students

Question Number : 79 Question Id : 50521223795 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 50521223796 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following type of learning is appropriate in EVS classes?
A. Learning by doing

B. Learning of descriptions

C. Learning of definitions

D. Discouraging rote learning
Options :

1. A, Band Conly

2. A and D only

3.Band Conly

4.B, Cand D only

Question Number : 80 Question Id : 50521223796 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 50521223797 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

"Things we make and do" in EVS curriculum is a
Options :

1. Theme

2. Subtheme

3. Syllabus

4. Topic

Question Number : 81 Question Id : 50521223797 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :



Question Number : 82 Question Id : 50521223798 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which is/are strategies for sensitizing the students on the issue of protection of animals.

A. Stories and narratives

B. Experiments

C. Comic strips

D. Poems
Options :

1. Aonly
2.A,Cand D
3.Donly

4.A B,Cand D

Question Number : 82 Question Id : 50521223798 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 50521223799 Question Type

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The objectives of conducting activities in EVS classes is to

A. provide opportunities to the students to explore and observe
B. develop psychomotor skills of students

C. develop aesthetic sensibility of the students

D. help students to memorise the related content
Options :

1.A,Band D

2.B,Cand D

3.A, Band C

: MCQ Option Shuffling : Yes



4.A,Cand D

Question Number : 83 Question Id : 50521223799 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 84 Question Id : 50521223800 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Students' questions are important indicators of their EVS learning because
A. questions help to assess students' knowledge
B. questions provide an opportunity to the students to express themselves

C. it indicates their curiosity for learning



D. it evaluates psychomotor skills of the students
Options:

1.B and Conly

2.B, Cand D only

3.A,Band Conly

4. A, B and D only

Question Number : 84 Question Id : 50521223800 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 50521223801 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A student of EVS analyses the problem given by his teacher. Analysis is a



A. Process skill
B. Cognitive process
C. Product skill

D. Psychological skill
Options :

1. A and B only

2. A, Band Conly
3.A, BandD only

4. B and Conly

Question Number : 85 Question Id : 50521223801 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

331, 7 feremefT, overer g7 v 7w ey e B Heymw # vw —
A. SIT3RaT 9T
B. SSHTeHe TR

C. 3Te uferaT

D. TRETHISE F 9T

Options :
1. I A SR B

, A,BHRC

3 A,B3RD

4 FIABARC



Question Number : 86 Question Id : 50521223802 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following can also be a good resource of EVS learning other than textbooks and

teachers?

A. Newspaper

B. members of the community
C. Poems

D. activities
Options:
1.A,BandD
2.A,Band C
3.Aand B only

4. Cand D only

Question Number : 86 Question Id : 50521223802 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 50521223803 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following issues will be discussed in the EVS class?
A. petrol prices

B. protection of animals

C. water crisis

D. concentration of carbon dioxide in the germination of seeds
Options :

1.A,Band C

2.A,Cand D

3.B,Cand D

4. A,Band D

Question Number : 87 Question Id : 50521223803 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

. A BFAC

, A, CTAD

, B,CTAID

. A,BFID

Question Number : 88 Question Id : 50521223804 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following can be the indicator of social skills for assessment in EVS ?
Options :

1. classification

2. Analysis

3. Sharing and working together

4. creative writing

Question Number : 88 Question Id : 50521223804 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4, FoTCH

Question Number : 89 Question Id : 50521223805 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

"Categorising the animals based on their colours".

Above the line indicates
Options :

1. Learning objective

2. General objective

3. Learning competency

4. Learning process

Question Number : 89 Question Id : 50521223805 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 50521223806 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Students of EVS assessed by a teacher through observation, by asking them questions, their
involvement in drawing pictures and participation in discussion followed by unit-test shows that

their

Options :

1. teacher is using observation tool

2. teacher is using summative assessment
3. teacher is using school based assessment

4. teacher is using peer assessment technique

Question Number : 90 Question Id : 50521223806 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Language I

Section Id : 505212764
Section Number : 4

Section type: Online
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Number of Questions : 17
Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: ves
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Question Shuffling Allowed : Yes

Question Id : 50521223807 Question Type : COMPREHENSION Sub Question Shuffling Allowed
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Question Numbers : (91 to 99)

Question Label : Comprehension
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Sub questions

Question Number : 91 Question Id : 50521223808 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 50521223809 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 50521223810 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3

4.4

Question Number : 94 Question Id : 50521223811 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 50521223812 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FIT 765 T 9O [aUE B
|. ST H 9F
2. TIH HF
3. T ET 9

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 50521223813 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TS Y HE TS S AT B
1. W

o IC

-

3. To==m
4. UEq
Options :

I3

1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 50521223814 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Hied sre% =T o7 2-
|, TR

. T

3. 3Tt

)

4. 94

-3

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 50521223815 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



I-J

3
4.
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 50521223816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
1. S 3T H FE R
ST 270 = STEE 2
3. ST 79 2719 TE ST
4. I *7U4 =1 % Uid ISTE 2|

I3

Options :
1.1
2.2
3.3
4.4

Question Id : 50521223807 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



eI e T SAEEE TEER U T AT % o w6 e
RRERSCICL

O @IET T 919 FE] B- THFT IqT 25 ST A1E0 A% 95 ¥ 39
3R = T TTeT AT =120 BT F21 21 Gl 2, T2 § =9RT Sa
T BT € SR 9E § TR R T R i 9 96 991 e 1
FITT B AT AN FE AU T H AT O] AT TET FHE E
AT & T AU T F T 39 AW UG T T a9 H F SRS
T F ot T 2 vt fufa F er w2 R e A A
T 3 ATTSR SFROT Toft T8 T FE T 2| 30 A T AR HE
T gig Bl SR 1 e Tt a1 7% 2 TR iE e S A
TE <A, T TE F AT & 8| AT F FAR F AR TG AT B
T T 9E 99T 21 ST ST ST ST 799 S99 o 39 g0 a8
AT AT T 3F TE § T ¢ a7 AT qF G99 ¢ AR (g A0
FTH % UTd SSTE & AT 379 I°ad § SvEET 2

Sub questions

Question Number : 91 Question Id : 50521223808 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR TS T A T 20
1. B9 S |

. BT 99 & Hi|

3, EON FEAT |

4. THT 31U =W H|

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 50521223809 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

I =5
THIT Shdcd H=T &7

. AT T HETIEE
2. ST T T H 1 I o)
3. 397 % U THER 77
4. T T ST AT |
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 50521223810 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Eﬁﬁ&gm@%%u.ﬁmaﬁwm%@
|. 2T AT 319 T 1)
2. ERI 1 S &l
3 ﬁ%m%mmaﬁﬁrsﬁﬁﬁl
4. STUF SATEURT T TR TaT 31 279 27|
Options :
1.1
2.2
3.3

4.4

Question Number : 94 Question Id : 50521223811 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



|. =9 39 TG
3. TEA % A 7 ST
4. T H FE AT

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 50521223812 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FIT 765 T 9O [aUE B
|. ST H 9F
2. TIH HF
3. T ET 9

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 50521223813 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TS Y HE TS S AT B
1. W

o IC

-

3. To==m
4. UEq
Options :

I3

1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 50521223814 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Hied sre% =T o7 2-
|, TR

. T

3. 3Tt

)

4. 94

-3

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 50521223815 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



gmnmm"rﬂm%—
+ SaE

I-J

¢ <9 ¢4 oA
|

<
4.

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 50521223816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
1. S 3T H FE R
ST 270 = STEE 2
3. ST 79 2719 TE ST
4. I *7U4 =1 % Uid ISTE 2|

I3

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 5052121381

Question Shuffling Allowed : Yes

Question Id : 50521223817 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No

Question Numbers : (100 to 105)



Question Label : Comprehension

AT STeaTeT i UEat 14T, 710 ST o IO W [aehed T

gt

=0 ST S =T E= T

T TS T8l F 2 =
] 3R 3TTeTT |1 =TT
LEGESEECEE
T SR ST 34T
ST S SE T ST
fore T =1t 78 9 Ot

3 . =,
AT © 99 SH[e0 eA|

A ~ .
SURSERER LA

't ™ "-\.\I
S ﬂ@a& HAUAT TaU = |

Sub questions

Question Number : 100 Question Id : 50521223818 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T HiadT § TorT =91 ITeT SATRaT ot &1 a5 sl 27

| EETE e AT
2. IQHEHE 91|
3. TEEIST ST aTe|
4. TR T AT

Options :

1.1

2.2

3.3

4.4



Question Number : 101 Question Id : 50521223819 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T 10 -5 T &7 T HTE FHieI] I o Ur
T = BT 27

|. O] T AT |91 =47

2. FT T AR T o 1)

3. T 4 IS e =
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 50521223820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FHiAT T =TT “FE = UG HTHET & —

. ot &t I T

3. UHEEE § = ST

4. SiEF-EO™ H ER ST

[

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 50521223821 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



AT IT5E H ST SUET 27

Y

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 50521223822 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘T 2 T TA[AT T TR H T T 299 & —
1. T == 1 1S 967 T2 2
2. THL = 1 HIE TAS T2 2
3. THM SE FEEH 2

4. TARTE TN TAT F o1 B

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 50521223823 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



mﬁ‘ﬂﬂm T Teg T AT = —
. 399

. qlead

3. =T

4. Taw=

Options :

I3

1.1
2.2
3.3
4.4

Question Id : 50521223817 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)
Question Label : Comprehension

TrATeTRaT FTeaTeT i TG [T, 70 F4T & I e [aohed T
giferm]

=9 ST T =T B
AT T 3ATeA |1 =TeAT
T I ST el 7|
T TR SeeATE 27T
T S 5E = 3T
=T & T QH%L{W;II

. ~ N
T SEF FT 110 =

o . »
ST SRl 31%.9 HUAT TaU =eA|

Sub questions



Question Number : 100 Question Id : 50521223818 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. o o O i 3
T HIGAT H 1560 TS 9T AFaT A &1 hid 7 61 27

I. T9T@ =TT ST
2. I =Y 1|
3. FEIST =EE I
4. TR =T I

Options :

1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 50521223819 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

~

"%ﬂﬁﬁ@ﬂ@—g:@w%"—ﬁﬂm AT S 5 U
H S BT 87
|. ST ST ST | = |
T 6 3 T F )
3. T 4 IS e =

[

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 50521223820 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FET q AT TET = T FTHET 2 —
. Ffa I A

3. UHAAE J = T

4. SHaFHTH T ER ST

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 50521223821 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

I IT6E T -6 ST 27
1. 39
2. 39
]
4. 3o

Tl

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 50521223822 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘T[T & FF T o7 U § i T SN R —
|. O o 1 FIE AT T8 2
0. BOT T 1 HIE YIS 75 2

3. THWI S99 A 2
4. ST E EHN =l T T 2
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 50521223823 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

mﬁuﬂm ‘TS Teg FT 7T & —
. 399

3. =T

4. Taw=

Options :

I3

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 5052121382

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 50521223824 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



e werm T FEa F
. =gl FraEr
2. U3 ..,cu:i cll:?‘t ﬁmmwﬁ

. T ST o

3
4. VTR ITATEOTH
Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 50521223824 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Tarame wem W FEa E —

|, EETqut aTaTeRoT

2. TSI A AT ITATER0r §

. SfIo=TTies araTERe §

3
4. VTG FTATET

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 50521223825 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



F=ATeAtEa o § = ST W97 SATme-fSTeqor 3 S 9t T5 2

. o= 9 e 9 e W, Sfieet seTeet o i 3R fort 7 Shie|
T e ST AT

3. FHHAN @ T [E] T ST

4. U FEER-UF F ferar e mla;ﬂ (& =)

—

-

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 50521223825 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

freferfige o & i o Wy et -fregor § wranfores w78 2
|, Torame © Ue 9T STeTs W, ST STATeeT o el R e T2 e |
. UT3a-TF o @ 31 (a9 &Y | {78 e
3. FHFN %@mﬁm&@?ﬂéﬁg&’%ﬂ
4. TR TR foren e e (=5 o

[ ]

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 50521223826 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Tt foaneff 310 U T A A S TG AR % e § e B € —
|. TS
. ST (A7)

4. Hfa

2

-2

L]

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 50521223826 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
MWWﬁﬁmwwmwﬁm %H{\Qﬁ?ﬂ‘ad THEF EATE —
I W
2. [\’
. ST ()
4, |@

-]

L]

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 50521223827 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T SPEATTE o UG T T AT T S Tt G T 2 oA T e 38 e S/ O
o 5 T, e e 2] T, o ST o e 2
|, SFFR-3METT G
3, ¥R ey
T IR IGICID)
Options :
1.1
2.2
3.3

4.4

Question Number : 109 Question Id : 50521223827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T ST o 117 WWWW#%WWWM&W@%W?WMW%@
a0 o o, e e 2 T o T ey )
|, ST
3. TG T
R IRl

Options :

1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 50521223828 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Tt ToT 36 TRTEI0T F SATHAOIT T ST F4T AT Te

1. SATFT FTHA

I3

TSI A ERE

3
4. 3T gaeft CRED

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 50521223828 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
fergsft s = frgor 9 TR 2T fHgTd 397 WiEatera T2t e

1. SATFUIL TR

[

. TeRTae! ST

3. erdwEHT ST
4. ==t waet AT

Options :

1.1

2.2

3.3

4.4

Question Number : 111 Question Id : 50521223829 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T e o T 1 R 7 35 O 4 2 e o U 7 S A S e e 2| T U
61 ST el ek e - T et A1l 21 e 21 U o ek e Fe e - AW A 2
T ST €14 3 A1 T 2 AT Ut S e 5 TR 0 e e 2 0 8 O U 2 4T 0 3 Ui o7
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|, yftfRat e SO
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3, T R

4, Te94 A

Options :

1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 50521223829 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T e o R § A T 7 38 O AT 1 e 1 6 T 61 AT S AR e A | T e
351 ST e 0k e el 2. % UTer AT 2 T 3 U 26 0% ek e, e e 2 A W e 2] T
T e ol i e i o
T T TR T €] 2 1Y T oo o e e e

|, et emenf S

), T A

3, e S

4. T ST

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 50521223830 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

J TSI FF T == ] WTST §@ 7 TR T F 2| FeR  EE —
() T==1 1 T 7 &
() TT-TIaT 1 e 71 Iearaes
(TT) == o AR 7 IET
() TOFR TE TE
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(2) FAF, T
(3) FEA T, T T
(4) FAFH, TG T

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 50521223830 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

F G T 1 == 5 WIS |G o1 3T 1 TH1fae 4 8| A g 8 8 —
(F) =1 31 7T T B
(@) HTAT-TUaT 31 TTedTe ﬁﬂﬁa@?
(TT) == o SATEUTE 1 gaT
(7) TR TE 3
() FaAFTE T
(2) FAF, T
(3) FATE, TTE T
(4) FAAF, TTE T

Options :
1.1
2.2



3.3
4.4

Question Number : 113 Question Id : 50521223831 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

20T T T ST IEEEGIRS
|. T IERT FRT T(SA (o0 70 372 i FHAT

. T T % HEH § IT6eT 31 TS 1Y TE0 AT

3. STERT T 1o, T, FWEF 1S H SeeAoh 37 T2l BT F TFT 1)

4. FTYNIA 7768 3 AL T SFTAH ST

-2

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 50521223831 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

STE0T T e EERN7 %‘ﬁ'ﬂ?ﬂ%
. T T o HeH T IT6aT 1 FIIIT 7Y TE0 AT

3. ITeET o [T, =, FWF ST § SaoTT 375 TaT ®U1 § =17 )
4. TR 3168 3 274 F STTAN T

-3

Options :
1.1
2.2
3.3
4.4



Question Number : 114 Question Id : 50521223832 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

S7ETeT ST TTIET STUET STIUTEET ¥ 9iegted € —
|. 20 AR T3S
2. HEU IR @
3. U AR @A
4, TIET AT 90T
Options :

1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 50521223832 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

SIS T TIAT STUST STIUTEAT ¥ | & —
|. =0 AT TS
2. FI AR =G
3. U3 IR EET
4. TET FIT 990
Options :

1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 50521223833 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TR wigae & By s s 20
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2. TSTTEE WTET

. TaTe o e (Hifezm) i v

4, Hg-ITSTHIET

L]

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 50521223833 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

WA T e F 2T S7em =7 97 = 22
|. TISTYTET (A=)
2. I AT

. Taveqr = Aream (Hfifeam) i v

4, HE-ATSTHET

LS

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 50521223834 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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|. TTSTHTET (ATTHREE)
2. TSTTEE WTET

. Tore =5 weme oy T

4. FEITSTHTET

L]

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 50521223834 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

WA ST 5 272ST STST 37 397 T2 29
1. TISTHTST (ATHETe)
2. TITH AT

. Tomer o mreme T T

4, HE-ATSTHET

LS

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 50521223835 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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|. e
3. HAE

faEm 5t (fem)

Options :

-2

1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 50521223835 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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|. T

-

3. §IeH

4. famgfe ()

Options :

-

1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 50521223836 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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3, TRy e o T e

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 50521223836 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T FIF-9] U5 FT IU-FHIH TE E
|. 5= TR 9 UgHT 3R 1Y FaET
. U1 W AT 2 S § S
3. THwrg THeRTer & form v

[

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 50521223837 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



o e G 7 S0 e et & 91 3 350 e e a7 e 21 a7 3 79 e A
R o e & 4 T e e € o F T ST 61 e T e 1 T o 1 99 9708
5 31 U O T S e | 59 T o ] RO S T € —
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Options :

1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 50521223837 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 50521223838 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 50521223838 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Language II

Section Id : 505212765
Section Number : 5

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 17

Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 5052121383
Question Shuffling Allowed : Yes

Question Id : 50521223839 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension



Directions: Read the passage given below and answer the guestions
that follow by choosing correct/most appropriate option:

1. Back in the days of America’s Wild West, when cowboys
roamed the range and people were getting themselves caught
up in gunfights, a new phrase-‘snake oil’ entered the
language. It was a dismissive term for the patent medicines,
often useless, sold by travelling traders who always claimed
miraculous cure for everything from baldness to snakebite.
Selling ‘snake oil’ was almost as risky as business as cattle
stealing; you might be thrown out of town if your particular
medicine, as you realized it would, failed to live up to its
claims. Consequently, the smarter ‘snake oil’ sellers left town
before their customers had much chance to evaluate the
‘cure’ they had just bought.

2. The remarkable thing about many of the medicines dismissed
then as ‘snake oil’ is not so much that they failed to live up to
the outrageous claims made for them- those that weren't
harmless coloured water could be positively dangerous.
What's remarkable is that so many of the claims made for
some of these remedies, or at least their ingredients, most of
them plant based, have since been found to have at least
some basis in fact.

3. One, Echinacea, eventually turned out to be far more potent
than even its original promoter claimed. Echinacea first
appeared in ‘Meyer’s Blood Purifier’, promoted as a cure-all
by a Dr H.C.F Meyer — a lay doctor with no medical
qualifications. ‘Meyer’s Blood Purifier claimed not only to
cure snakebite, but also to eliminate a host of other ailments.
Native to North America, the roots of Echinacea, or purple
cornflower, had been used by the plains Indians for all kinds
of ailments long before Meyer came along. They applied
poultices of it to wounds and stings, used it for teeth and gum
disease and made a tea from it to treat everything from colds
and measles to arthritis. They even used it for snakebite.

Sub questions

Question Number : 121 Question Id : 50521223840 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following statements is true about the, ‘snake
oil’?

1. It was a disdainful term for the patent medicines.

2. Selling of snake-oil was a risky business.

3. It was sold by travelling traders.

4. Snake oil was in great demand in America.

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 50521223841 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The reason why snake oil sellers left town soon after selling
it was that
1. it was causing baldness.
2. the authorities had received complaints against
them.
3. they were accused of stealing cattle.
4, it failed to live up to the tall claims made for it.

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 50521223842 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement. Native of North America
used poultices of Echinacea to treat

1. heart ailments

2. teeth and gum disease

3. neuro problems

4. blood disorders



Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 50521223843 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements.
A. Most of the medicines sold by travelling traders
were plant based.
B. Dr H.C.F Meyer was a highly qualified physician.

1. Aisfalse and B is true.
2. Both A and B are true.
3. Aistrue and B is false.
4. Both A and B are false

Options :

1.1

2.2

3.3

4.4

Question Number : 125 Question Id : 50521223844 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following words is most opposite in
meaning to the word ‘outrageous’ as used in para 2 of the
passage?

1. appalling

2. scandalous

3. acceptable

4. abominable

Options :

1.1



2.2
3.3
4.4

Question Number : 126 Question Id : 50521223845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

|dentify the type of adverb in the underlined part of the
following sentence:
Echinacea has been used by the Indian for all kind of
ailments long before Dr Meyer came along.

1. Adverb of manner

2. Adverb of place

3. Adverb of time

4. Adverb of degree

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 50521223846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words mean the same as the word,
‘potent’ as used in para 3 of the paragraph?

1. prominent

2. powerful

3. protective

4. precious

Options:
1.1
2.2
3.3
4.4



Question Number : 128 Question Id : 50521223847 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of the following sentences contains an error?

The landscape is beautiful init'sown unique way
a b C d

1. {c)
2. {d)
3. (a)
4. (b}

Options :

1.1

2.2

3.3

4.4

Question Id : 50521223839 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension



Directions: Read the passage given below and answer the guestions
that follow by choosing correct/most appropriate option:

1. Back in the days of America’s Wild West, when cowboys
roamed the range and people were getting themselves caught
up in gunfights, a new phrase-‘snake oil’ entered the
language. It was a dismissive term for the patent medicines,
often useless, sold by travelling traders who always claimed
miraculous cure for everything from baldness to snakebite.
Selling ‘snake oil’ was almost as risky as business as cattle
stealing; you might be thrown out of town if your particular
medicine, as you realized it would, failed to live up to its
claims. Consequently, the smarter ‘snake oil’ sellers left town
before their customers had much chance to evaluate the
‘cure’ they had just bought.

2. The remarkable thing about many of the medicines dismissed
then as ‘snake oil’ is not so much that they failed to live up to
the outrageous claims made for them- those that weren't
harmless coloured water could be positively dangerous.
What's remarkable is that so many of the claims made for
some of these remedies, or at least their ingredients, most of
them plant based, have since been found to have at least
some basis in fact.

3. One, Echinacea, eventually turned out to be far more potent
than even its original promoter claimed. Echinacea first
appeared in ‘Meyer’s Blood Purifier’, promoted as a cure-all
by a Dr H.C.F Meyer — a lay doctor with no medical
qualifications. ‘Meyer’s Blood Purifier claimed not only to
cure snakebite, but also to eliminate a host of other ailments.
Native to North America, the roots of Echinacea, or purple
cornflower, had been used by the plains Indians for all kinds
of ailments long before Meyer came along. They applied
poultices of it to wounds and stings, used it for teeth and gum
disease and made a tea from it to treat everything from colds
and measles to arthritis. They even used it for snakebite.

Sub questions

Question Number : 121 Question Id : 50521223840 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following statements is true about the, ‘snake
oil’?

1. It was a disdainful term for the patent medicines.

2. Selling of snake-oil was a risky business.

3. It was sold by travelling traders.

4. Snake oil was in great demand in America.

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 50521223841 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The reason why snake oil sellers left town soon after selling
it was that
1. it was causing baldness.
2. the authorities had received complaints against
them.
3. they were accused of stealing cattle.
4, it failed to live up to the tall claims made for it.

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 50521223842 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement. Native of North America
used poultices of Echinacea to treat

1. heart ailments

2. teeth and gum disease

3. neuro problems

4. blood disorders



Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 50521223843 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements.
A. Most of the medicines sold by travelling traders
were plant based.
B. Dr H.C.F Meyer was a highly qualified physician.

1. Aisfalse and B is true.
2. Both A and B are true.
3. Aistrue and B is false.
4. Both A and B are false

Options :

1.1

2.2

3.3

4.4

Question Number : 125 Question Id : 50521223844 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following words is most opposite in
meaning to the word ‘outrageous’ as used in para 2 of the
passage?

1. appalling

2. scandalous

3. acceptable

4. abominable

Options :

1.1



2.2
3.3
4.4

Question Number : 126 Question Id : 50521223845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

|dentify the type of adverb in the underlined part of the
following sentence:
Echinacea has been used by the Indian for all kind of
ailments long before Dr Meyer came along.

1. Adverb of manner

2. Adverb of place

3. Adverb of time

4. Adverb of degree

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 50521223846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words mean the same as the word,
‘potent’ as used in para 3 of the paragraph?

1. prominent

2. powerful

3. protective

4. precious

Options:
1.1
2.2
3.3
4.4



Question Number : 128 Question Id : 50521223847 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of the following sentences contains an error?

The landscape is beautiful init'sown unique way
a b C d
1. {c)
2. {d)
3. (a)
4. (b}
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 5052121384
Question Shuffling Allowed : Yes

Question Id : 50521223848 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension



Read the passage given below and answer the guestions that follow
by choosing correct/most appropriate option:

1. There is consistent, strong evidence to prove that the SARS-
CoV-2 virus, behind the COVID-19 pandemic, is
predominantly transmitted through air, according to a new
assessment published on Friday in The Lancet journal. The
analysis by six experts from the UK, the US and Canada says
public health measures to fail to treat the virus as
predominantly the airborne route leaves the people
unprotected and allows the virus to spread. Although some
studies in the past have suggested that COVID-19 may spread
through air, overall scientific literature on the subject has
been inconclusive. In July last year, over 200 scientists from
32 nations wrote to WHO, saying there is evidence that the
Corona virus is airborne, and even smaller particles can infect
people. “The evidence supporting airborne transmission is
overwhelming, and evidence supporting large droplet
transmission is almost non-existent”, said Jose-Luis Jimenez,
from the University of Colorado Boulder in the US. “Itis
urgent that the world Health Organization and other public
health agencies adapt their description of transmission to the
scientific evidence so that the focus of mitigation is put on
reducing airborne transmission,” Jimenez said. Studies have
confirmed these events cannot be adequately explained by
close contact or touching shared surfaces or objects, the
researchers said in their assessment.

2. They noted the transmission rates of SARS-CoV-2 are much
higher indoors than outdoors, and transmission is greatly
reduced by indoor ventilation. The term cited previous studies
estimating that silent — asymptomatic or pre-symptomatic —
transmission of SARS-CoV-2 from people who are not
coughing or sneezing accounts for at least 40 percent of all
transmission.

Sub questions

Question Number : 129 Question Id : 50521223849 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following statements is not true about the
transmission of SARS-CoV-27
1. Itis transmitted through air.
2. Transmission rates of the disease are much higher
indoors than outdoors.
3. Itis not transmitted via close contact or touching
shared surfaces or objects.
4. It could be transmitted through asymptomatic
patients to a healthy person.

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 50521223850 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to experts from the UK, the US and Canada the
SARS-CoV-2 virus.
1. spreads through human contact.
2. affects the elderly the most.
3. proves fatal to people with weak immune system
4. the airborne route leaves people unprotected.

Options:
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 50521223851 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What, according to Jimenez, should WHO and other public
health organisations do to effectively deal with the
problem?
1. To find a scientific cure for permanent extinction of
the virus.
2. To find scientific ways to reduce the airborne
transmission
3. lIssue guidelines regarding Covid-19 protocol and
make them mandatory for all.
4. To adapt their description of transmission to
scientific evidence to reduce airborne transmission.

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 50521223852 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct option to fill in the blank in the
following sentence.
was the first to establish the fact that

COvid-19 pandemic prominently spreads through air.

1. World Health Crganisation

2. Jose-Luis Jimenez

3. Research studies

4. Lancet Journal

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 50521223853 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following words has the same meaning as the
word, ‘overwhelming’ as used in paragraph 1 of the
passage?

1. strong

2. transparent

3. clear

4. close

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 50521223854 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words is opposite in meaning to the
word, ‘consistent” as used in para 1 of the passage?

1. excellent

2. dependable

3. marvellous

4. astonishing

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 50521223855 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which part of the following sentences contains an error?

He asked him why was he reluctant toaccept such agood offer

(a) (b) (<) (d)

Options :
1.1
2.2
3.3
4.4

Question Id : 50521223848 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension



Read the passage given below and answer the guestions that follow
by choosing correct/most appropriate option:

1. There is consistent, strong evidence to prove that the SARS-
CoV-2 virus, behind the COVID-19 pandemic, is
predominantly transmitted through air, according to a new
assessment published on Friday in The Lancet journal. The
analysis by six experts from the UK, the US and Canada says
public health measures to fail to treat the virus as
predominantly the airborne route leaves the people
unprotected and allows the virus to spread. Although some
studies in the past have suggested that COVID-19 may spread
through air, overall scientific literature on the subject has
been inconclusive. In July last year, over 200 scientists from
32 nations wrote to WHO, saying there is evidence that the
Corona virus is airborne, and even smaller particles can infect
people. “The evidence supporting airborne transmission is
overwhelming, and evidence supporting large droplet
transmission is almost non-existent”, said Jose-Luis Jimenez,
from the University of Colorado Boulder in the US. “Itis
urgent that the world Health Organization and other public
health agencies adapt their description of transmission to the
scientific evidence so that the focus of mitigation is put on
reducing airborne transmission,” Jimenez said. Studies have
confirmed these events cannot be adequately explained by
close contact or touching shared surfaces or objects, the
researchers said in their assessment.

2. They noted the transmission rates of SARS-CoV-2 are much
higher indoors than outdoors, and transmission is greatly
reduced by indoor ventilation. The term cited previous studies
estimating that silent — asymptomatic or pre-symptomatic —
transmission of SARS-CoV-2 from people who are not
coughing or sneezing accounts for at least 40 percent of all
transmission.

Sub questions

Question Number : 129 Question Id : 50521223849 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following statements is not true about the
transmission of SARS-CoV-27
1. Itis transmitted through air.
2. Transmission rates of the disease are much higher
indoors than outdoors.
3. Itis not transmitted via close contact or touching
shared surfaces or objects.
4. It could be transmitted through asymptomatic
patients to a healthy person.

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 50521223850 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to experts from the UK, the US and Canada the
SARS-CoV-2 virus.
1. spreads through human contact.
2. affects the elderly the most.
3. proves fatal to people with weak immune system
4. the airborne route leaves people unprotected.

Options:
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 50521223851 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What, according to Jimenez, should WHO and other public
health organisations do to effectively deal with the
problem?
1. To find a scientific cure for permanent extinction of
the virus.
2. To find scientific ways to reduce the airborne
transmission
3. lIssue guidelines regarding Covid-19 protocol and
make them mandatory for all.
4. To adapt their description of transmission to
scientific evidence to reduce airborne transmission.

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 50521223852 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct option to fill in the blank in the
following sentence.
was the first to establish the fact that

COvid-19 pandemic prominently spreads through air.

1. World Health Crganisation

2. Jose-Luis Jimenez

3. Research studies

4. Lancet Journal

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 50521223853 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following words has the same meaning as the
word, ‘overwhelming’ as used in paragraph 1 of the
passage?

1. strong

2. transparent

3. clear

4. close

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 50521223854 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words is opposite in meaning to the
word, ‘consistent” as used in para 1 of the passage?

1. excellent

2. dependable

3. marvellous

4. astonishing

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 50521223855 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which part of the following sentences contains an error?

He asked him why was he reluctant toaccept such agood offer

(a) (b) (<) (d)

Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 5052121385

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 50521223856 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not an intrinsic criteria of a good text book?
1. Language and vocabulary
2. Subject matter
3. Style and planning
4. Printing and binding

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 50521223856 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is net an intrinsic criteria of a good text book?
1. Language and vocabulary
2. Subject matter
3. Style and planning
4, Printing and binding

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 50521223857 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher of class V asks her students to listen to a short paragraph of six sentence twice. Then she asks them to work
in group of four to rewrite the paragraph nearer to what they heard and not exactly the same sentence. What is the
task known as?

1. Creative writing

2. Listening and speaking

3. Paragraph dictation

4, Sentence dictation

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 50521223857 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ateacher of class V asks her students to listen to a short paragraph of six sentence twice. Then she asks them to work

in group of four to rewrite the paragraph nearer to what they heard and not exactly the same sentence. What is the
task known as?

1. Creative writing

2. Listening and speaking
3. Paragraph dictation
4. Sentence dictation

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 50521223858 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher finds out that some students feel difficulty in comprehending the detailed explanation of the passages and
sentence structures in a language. She provides them a good vocabulary and drills in structures with same tricks. After
sometime she could be able to remove the difficulties of her students.
What type of assessment she conducted?

1. Diagnostic assessment

2. Formative assessment

3. Summative assessment

4, Placement assessment

Options:
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 50521223858 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A teacher finds out that some students feel difficulty in comprehending the detailed explanation of the passages and
sentence structures in a language. She provides them a good vocabulary and drills in structures with same tricks. After
sometime she could be able to remove the difficulties of her students.
What type of assessment she conducted?

1. Diagnostic assessment

2. Formative assessment

3. Summative assessment

4, Placement assessment

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 50521223859 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While preparing ‘The Blue Print’ of a test in a language. Which one of the following steps need not to be followed-
1. Weightage to teaching objectives
2. Weightage to different forms of questions
3. Weightage to difficulty level
4. Weightage to different writing styles.

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 50521223859 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While preparing ‘The Blue Print’ of a test in a language. Which one of the following steps need not to be followed-
1. Weightage to teaching objectives
2. Weightage to different forms of questions
3. Weightage to difficulty level
4. Weightage to different writing styles.



Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 50521223860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher writes certain words clearly on the black-board and students note them down in their note-books.
Which one of the following is best suitable to describe this strategy of teaching spellings?

1. Play method

2. Drill method

3. Transcription method

4. Dictation method

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 50521223860 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher writes certain words clearly on the black-board and students note them down in their note-books.
Which one of the following is best suitable to describe this strategy of teaching spellings?

1. Play method

2. Drill method

3. Transcription method

4. Dictation method

Options :
1.1
2.2
3.3



4.4

Question Number : 141 Question Id : 50521223861 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A child is noticed to have the following difficulty while learning the language-
# Problems in learning the names and sound of letters
# Making mistakes when reading aloud
# Visual disturbances when reading sentences of words
# Taking longer time to complete written work.

The child may be showing the symptoms of-
1. Dyslexia
2. Dysgraphia
3. Learning disability
4, Learning phobia
Options :
1.1
2.2
3.3

4.4

Question Number : 141 Question Id : 50521223861 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A child is noticed to have the following difficulty while learning the language-
# Problems in learning the names and sound of letters
# Making mistakes when reading aloud
# Visual disturbances when reading sentences of words
# Taking longer time to complete written work.

The child may be showing the symptoms of-
1. Dyslexia
2. Dysgraphia
3. Learning disability
4, Learning phobia

Options :



1.1
2.2
3.3

4.4

Question Number : 142 Question Id : 50521223862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher teaches a lesson on ‘Lucknow’, After silent reading is done by students, she ask the following questions-
a) Why was Hazratganj not noisy?
b) Why Lucknow is called a city of Nawahs?

Which of the following types are more appropriate to define nature of these questions a & b?

a) Recapitulatory questions
b) Inferential questions

¢) Introductory questions

d) Comprehension questions

Options :
1.1
2.2
3.3

4.4

Question Number : 142 Question Id : 50521223862 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher teaches a lesson on ‘Lucknow’, After silent reading is done by students, she ask the following questions-
a) Why was Hazratganj not noisy?
b) Why Lucknow is called a city of Nawahs?

Which of the following types are more appropriate to define nature of these questions a & b?

a) Recapitulatory questions
b) Inferential questions

¢) Introductory questions

d) Comprehension questions



Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 50521223863 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not an advantage of silent reading?
1. It removes hesitation and shyness of students.
2. It saves energy of the students.
3. The students make meaning by comprehending and reflecting.
4. It develops tendency of self-study in the students.

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 50521223863 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not an advantage of silent reading?
1. It removes hesitation and shyness of students.
2. It saves energy of the students.
3. The students make meaning by comprehending and reflecting.
4. It develops tendency of self-study in the students.

Options :
1.1
2.2
3.3
4.4



Question Number : 144 Question Id : 50521223864 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements about a teaching method in English.

a) This method/strategy was first introduced in Germany.
b) It was widely used in Europe for teaching English

c) The unit of teaching is word not a sentence.

d) The context is graded in a standard format.

e) The steps are from formal to functional.

f) Phraseoclogy can be best assimilated in interpretation.

Which of the following reflect these characteristics?

Audio lingual

Substitution method/strategy
Bilingualism as a strategy

4. Grammar-cum-Translation method.

b NP

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 50521223864 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Read the following statements about a teaching method in English.

a) This method/strategy was first introduced in Germany.
b) It was widely used in Europe for teaching English

c) The unit of teaching is word not a sentence.

d) The context is graded in a standard format.

e) The steps are from formal to functional.

f) Phraseoclogy can be best assimilated in interpretation.

Which of the following reflect these characteristics?

Audio lingual

Substitution method/strategy
Bilingualism as a strategy

4. Grammar-cum-Translation method.

ol

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 50521223865 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose the correct alternative-
Assertion (A): A sub-skill approach to evaluation reflects the teacher’s intuitions to identify the areas where help is
needed.
Reason (R): The testing of writing and listening can be broken up into sub-skills, complemented by integrated language
fest-

1. Alstrue and Ris false

2. Both Aand R are true and R is the correct explanation of A

3. Both Aand R are true and R is not the correct explanation of A

4, Alsfalse but Ris true

Options :
1.1
2.2
3.3
4.4
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Ateacher read aloud half of the text and then asks learners in group to write their own endings.
What type of activity is this?

1. Experiential activity

2. Group work

3. Writing activity

4. Intake activity

Options:
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 50521223866 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher read aloud half of the text and then asks learners in group to write their own endings.
What type of activity is this?

1. Experiential activity

2. Group work

3. Writing activity

4. Intake activity

Options:
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 50521223867 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following might be best strategy for developing vocabulary among the students?
1. Memorising antonyms and synonyms.
2. Guessing the meaning of new words in a given context.
3. Consulting the dictionary for every new word.
4. Making sentences of all the new words.

Options :
1.1
2.2
3.3
4.4
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Multilingualism must be used as a resource so that:
1. children can learn many languages.
2. teacher can learn many languages.
3. every child feels secure and accepted.
4. children gets confused with many languages.

Options :
1.1
2.2
3.3
4.4
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2.2
3.3
4.4
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Storytelling should be used frequently in classroom because it
1. entertains students.
2. teaches morals.
3. presents language as a whole.
4. teaches difficult words.

Options :
1.1
2.2
3.3
4.4
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Language acquisition means
1. learning the rules of grammar of language.
2. learning a language unconsciously in informal setting.
3. learning a language consciously in formal setting.
4. learning about a language.

Options :
1.1
2.2
3.3
4.4
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